[bookmark: _GoBack]I am inclined to change a start from that called by GM, in favor of the next one which definitely has a better RBS score, but then this question of curiosity comes to my mind: Often, we annotators will scan the sequence to look for the best RBS score. However, ribosomes are “machines” which I would expect to bind at the earliest strong binding site they can find along their path down the sequence. It is understandable for places with z values below 2, but from the resource guide, “A Z-value higher than 2 is getting good”. If ribosomes do not go back and forth, first taking a “dry run” through the sequence like us humans to choose the best RBS score, what would then make a ribosome to skip start 2 in the figure below (Z= 2.018, Fs -5.536, called by GM), for example, and go several bases down the road to choose start 3, which has a better RBS score (Z=3.053, -2.645)? Please advise.
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stajRaw 5D |Genomic [Spacer [Final [Sequence of the Region [Start|starc [ome
+ z Value |Distance|Score |Upstream of cthe Start |Codon|Position |Length
1 1427 s -€.003 |GCACGARAGTCATIGARACACA |ATG (35341 279
2 2.018 |7 -5.53¢ | AATGGCTTACARACAGAARAGG |ATG |3ssez 250 G GM call
B 3053 |11 -2.645 |CAAACAGAAAAGGATGGARACC |ATG 35571 |245 &3 Better RBS
4 |-3.03 2.466 10 -3.787 |TTACGCCTTIGAGGITGCCICA |ATG  |3€001 219
s |-3.03 |2.s66 |1 -4.888 |CTTTGAGGTTGCCICAATGGAT |TIG 36007  |213
€ |-2.e24 2634 13 ~3.670 | AGAACGTGAGGGATITACTAGC |GIG |3€064 156
7 |-a.537 173 |12 -5.372 | CGTACGCAATGCAGTTGCTCAT |ATG 36118 (102
8 |-2.616 263 |10 -3.311 |CCGTGTCAMAACGGAARTCGTT |GTG |3€lé€ |54
s |-s.e7s |1.209 |13 -€.720 | TGTCCCGAACGITAATCCIGIC |TTG |36156 |24




